Lambda Calculus and Combinatory Logic WS 2017/18
Exercise sheet 11 due 19.1. T. Piecha

Exercise 1 (2 points)
Show: If I't=M : o, then ['lgy () - M : ©.
What has to be done to assign a type to a term M if FV(M) £ 0?

Exercise 2 (9 points)
For each of the sequents below formulate its associated system of equations.

Then use the unification algorithm to find an mgu, if it exists.

(a) FAxyx(yx):o—o0o (3 points)
(b) x:akFAyxyx:o (3 points)
(c) x:0—=TkHAzxzz: 7T (3 points)

Exercise 3 (9 points)
Which of the following terms are typable? Show this.

(@) Axy.xyx (2 points)
(b) Az.z(Ay.z) (2 points)
(©) Az.z(Ay.zy) (2 points)

d) (Axzx)(Ax.xxy) (3 points)



